Waterfall Charts

A waterfall chart breaks a single component chart out over several columns. 
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Creating a Waterfall Chart.

The trick to making the middle columns float is to use a stacked column chart. The second series is the actual columns that appear on the chart. The first series is changed into an invisible colour without any lines in order to make the bars in the second series appear to float. 

You may start with values such as those shown in columns A and B in the figure below. The trick to creating a waterfall chart is to move those values into two series. 

The second series is the height of each column that is actually seen. 

The first series is an invisible column that makes the other bars appear to float. 
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A waterfall chart can be used in many situations to turn a single component column chart into a whole-page chart. These charts present a dramatic picture of all the components in a process. 

You follow these steps to create the chart shown above:
1. For the three columns in the chart that touch the horizontal axis, set the invisible column to zero and the visible column to the number from column B.

2. The goal for trade discount is to have a floating bar that extends from 62,280 down to 34,254. In order to have the bar float at this level, you need an invisible bar that is 34,254 tall. Therefore, in cell E3, enter the formula =F4.

3. The height of the floating bar needs to extend from 34,254 to 62,280, so enter the formula =F2-E3 in cell F3.

4. After the Net Revenue bar are all the SG&A expenses. The height of each floating bar should be the amount of the expense. Therefore, in cell F5, enter the formula =B5. Copy this down to cells F6:F9.

5. The formula for the invisible portion of the bars is often difficult to figure out. In this case, starting at the final bar might make this easier. The Travel bar representing $600 needs to float just above the Profit bar of 9,441.Thus, enter the formula =F10 in cell E9.

6. The Royalties bar of 4,700 needs to float just above the level of the Travel bar. The height of the Travel bar is the height of the invisible bar (9441 in E9) and the height of the visible bar (500 in F9).Therefore, in cell E8 enter =E9+F9.You now have a formula that can be copied.

7. Copy cell E8 to the blank cells in E7:E5.

8. Select the range D1:F10. From the Insert ribbon, choose Column, Stacked Column.

9. Turn off the legend by selecting Legend, None from the Layout ribbon.

10. Click the lower Trade Discount bar. On the Format ribbon, choose Shape Fill, White. The lower columns disappear.

11. Select the top column. On the Format ribbon, choose Shape Fill and then select black.

12. Turn off the gridlines by selecting Gridlines, Primary Horizontal Gridlines, None on the Layout ribbon.

13. Right-click a top column and choose Add Data Labels. (Normally, you would choose to put the data labels at the outside end. However, because this is a stacked column chart, the outside end is not an option in the Format Data Labels dialog.)

14. Individually grab each label and move it to the top of the column.

15. To finish the waterfall chart, you need to draw connecting lines from the bottom of one column to the next column. Therefore, on the Insert ribbon, choose Shapes, Line. While holding down the Shift key, draw a line from the top of the first column to the top of the next column. Select Format, Shape Outline and then select black to darken the line. Repeat this step to connect all the columns.

